西南交大网络教育入学考试模拟题
大学英语（一）

Part I Sound Recognition 
Directions: There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three, then mark the corresponding letter on the Answer Sheet with a single line through the center.
1. A) sugar


B) much



C) jump



D) sunshine

2. A) cabbage

B) taste



C) nation


D) salesman 

3. A) yellow


B) grow



C) town



D) window
4. A) golden


B) comb 


C) comfortable

D) moment

5. A) shouted

B) decided


C) wanted


D) finished
Part II Vocabulary and Structure 

Directions: There are 20 incomplete sentences in this part. For each of them there are 4 choices marked A), B), C) and D). Choose the one that best complete the sentence, then mark the corresponding letter on the Answer Sheet with a single line through the center.
6. Linda _____ at the dance tonight, nor will Peter. 

A. can’t be 

B. will be 


C. may not be 

D. won’t be
7. — Can I get you a cup of tea?

— ______.

   A. That’s very nice of you



B. With pleasure

   C. You can, please




D. Thank you for the tea

8. I had a new tap _______ the day before yesterday.

   A. fix


B. fixing


C. to be fixed

D. fixed

9. We couldn’t eat at a restaurant because _______ of us had _______ money on us.

   A. all…no

B. any…no


C. none…any

D. no one…any 

10. I was so ______ moved by his words that I couldn’t fall asleep ______ into the night.

   A. deep…deeply
B. deep…deep

C. deeply…deeply
D. deeply…deep

11. The crowd cheered ______ the sight of the honoured guests’ motorcade.

   A. at



B. on



C. as soon as


D. in

12. — Has anyone seen my glasses?

— ________.

   A. Here it is

B. It is here


C. Here are they

D. Here they are

13. He’s a new comer. So we try to be as _______ to him as we could.

   A. friend


B. friends


C. friendly


D. good friends

14. She had a good time last night, _______?

   A. hadn’t she

B. had she


C. didn’t she


D. did she

15. Don’t _______ the child, it will frighten him.

   A. call at


B. laugh at


C. shout to


D. shout at

16. It was difficult for him to buy good shoes because he had such a big _____ of feet. 

A. pair 


B. size 



C. couple 


D. number 

17. Jack works so hard as he dreams _____ owning his own house soon. 

A. to 


B. with 



C. of 



D. on

18. There are about 70 people _____ in the accident. 

A. were killed 
B. who killed 

C. killing 


D. killed 

19. I suppose I can count _____ you for help in this matter. 

A. of 


B. on 



C. at 



D. to 

20. Watch your step, _____ you might fall into the water. 

A. or 


B. and 



C. unless 


D. but 

21. Hardly _____ his speech when he saw the audience rise as one. 

A. had he finished 




B. did he finish 

C. he finished 





D. he had finished 

22. The reason _____ I’m writing is to tell you about a party on Saturday. 

A. because 

B. why 



C. for 



D. as 

23. I didn’t know what to do but then an idea suddenly _____ to me. 

A. happened 
B. entered 


C. occurred 


D. hit 

24. The tailor made him a new _____. 

A. clothes 

B. wear 


C. dress 


D. suit 

25. If you want his address, you will have to _____ the number in the book. 

A. look into 
B. look up 


C. look through 

D. look after 
Part III Reading comprehension

Directions: There are some passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are 4 choices marked A), B), C) and D). Choose the one that best complete the sentence, then mark the corresponding letter on the Answer Sheet with a single line through the center.

Passage One
Usually when people move to another country and culture, they might feel very glad to be starting a new life. It’s exciting to meet new people and see new places. Some newcomers feel like they are on top of the world. It is like a big adventure. They are pleased with themselves for having taken a big step.

   However, one month, six months, or even one year later, some people have different feelings. There are many new things that are hard to understand and accept in another country. People live in a new culture have to eat new kinds of food, learn a new language, and live in their daily lives far away from their families and friends. At this time, people cry more and feel more sadly.

   They shed tears because they feel very homesick. They feel down in the dumps because it seems nobody understands them. Some newcomers burst into tears when they talk about or even think about their families. Sometimes, on special holidays, they might not even be comforted. They are heartbroken because they are so far away from everything that is familiar and comfortable.

   This time of being in low spirits doesn’t last forever. Eventually, newcomers start to adjust and to feel more contended with their new lives. People start to smile more and chuckle at jokes. They feel more optimistic and more accepting of their new life and the changes they have experienced. Newcomers won’t ever feel life they are walking on air every day, but they will feel more pleased about their new lives. It takes time to make this adjustment. The experience of living in a new culture will always have its low points, but it also has its joyous moments. Living in a new culture teaches us a lot about ourselves and about our ability to change.

26. What is Paragraph 1 mainly about?

   A) People feel very excited to live in a new culture.

   B) People often feel like making new friends.

   C) People are eager to start a new life.

   D) People like adventures.

27. Which of the following is NOT true?

   A) The sad time seems to last forever.

   B) People have to deal with many different new things when they live in a new culture.

   C) People sometimes cry when they miss their families.

   D) The longer they stay in a new country, the less sad they feel.

28. According to the passage, the advantage of living in a new country is that _____.

   A) We can enjoy adventure.

   B) We can have a taste of new kinds of food.

   C) We can walk on air every day.

   D) We may know more about ourselves and our ability to adjust to a new life.

29. Which of the following is NOT the reason for people being homesick?

   A) Nobody understands and comforts them.

   B) They are in low spirits when moving to another culture.

   C) They lose all the familiar things.

   D) They have to try new food.

30. What is the best title to the passage?

   A) Homesick

   B) Living in another culture

   C) Culture shock

   D) Among the unfamiliar

Passage Two 

We have just climbed out of a spaceship onto the surface of the moon. Behind us is the ship, half in sunlight and half in deep shadow. A few miles ahead is a wall of mountains towering against the blue sky. Moreover, there, as if resting on the mountains, is a great ball of light, beautifully colored in blue, green and brown with a patch of dazzling white at the top. It is our own far away world—the earth.

We take a step and rise like jumper-up, float and come down again. Hopping carefully, we looked over the valley and the plain.

Not a sound can be heard because there is no air to carry sound, and wind; there are no smells, no plants, and no animals. There is nothing but rock and dust, blinding sunlight and cold black shadows.

31. The passage is written as if _____.

   A) you were on the earth

   B) you were on the moon with the writer

   C) the writer were on the moon

   D) the writer were on the earth

32. The ball above the mountain is _____.

   A) the planet on which human beings live

   B) the sun which is very bright

   C) a man-made satellite

   D) a star very far away

33. To get around the moon, men would _____.

   A) float through the air

   B) walk heavily

   C) hop carefully

   D) ride in a spaceship

34. The moon is a silent world because of _____.

   A) no animals

 B) no human beings

   C) airless condition

   D) both A) and B)

35. On the moon’s surface you would not find _____.

   A) blinding sunlight

   B) valley and plains

   C) rock and dust

   D) plants and animals

Passage Three

In sports, the sexes are separate. Women and men do not run or swim in the same races. Women are less strong than man. That at least is what people say. Women are called the “weaker sex”, or if men want to please them, “the fair sex”. But boys and girls are taught together at school and universities. There are women who are famous prime ministers, scientists and writers. And women live longer than men. A European woman can expect to live until the age of 74, a man only until he is 68. Are women’s bodies really weaker?


The fastest men can run a mile within 4 minutes, the best women 4.5 minutes. Women’s times are always slower than men’s, but some facts are surprising. Some of the fastest women swimmers today are girls. One of them swam 400 meters in 4 minutes 21.2 seconds when she was only 16. The first “Tarzan（泰山）” in films was an Olympic swimmer, Johnny Weiss Muller. His fastest 400 meters was 4 minutes 59.1 seconds, which is 37.9 seconds slower than a girl 50 years later! This does not mean that women are catching men up. Conditions are different now, and sport is much more serious. It is so serious that some women are given hormone injections. At the Olympics a doctor has to check whether the women are really women or not. It seems sad that sport has such problems. Life can be very complicated when there are separated sexes.

36. Women are called “the weaker sex” because _____.

A) in sports the two sexes are always separate

B) people usually think so

C) women are less strong than men

D) men want to please women
37. The writer of this passage is trying to prove that _____.

   A) men are stronger sex

B) women are stronger sex

   C) women are weaker sex

D) women are not weaker sex

38. The writer implies that _____.

A) women are weaker than men, but faster

B) women are catching men up now

C) women are weaker than men, but live longer

D) men are not always stronger and faster than women

39. Which of the following is true?

   A) Johnny Weiss Muller swam slower than a girl in a swimming race.
   B) A girl 50 years later swam faster than Johnny Weiss Muller.

 C) The fastest swimmers are usually girls.

   D) The fastest women can run as fast as the best men.

40. What problem does sport have?

   A) Some women are actually men.

   B) Sport is becoming too serious.

   C) Sportsmen are given hormone injections.

D) Women and men are separate in sports.

Passage Four

According to an old story, a farmer once found that a bag of corn had been stolen from his house. He went to the judge and told him about his loss. The judge ordered all the people of the farm to come before him. He took a number of sticks of equal length and gave one stick to each man.

He then said, “Come before me again tomorrow. I shall then know which of you is the thief because the stick given to the thief will be one inch longer than the others.”

The thief was afraid of being found out, and so the cut an inch off his stick. The next day the thief’s stick was found to be one inch shorter than any of the others. In this way the thief was found out, and was at once taken away to prison.

41. A bag of corn was found ________.

A. to be stolen

B. stolen

C. being stolen

D. having stolen

42. The judge gave each man a stick _______.

A. to change back the farmer’s corn
B. to beat the thief

C. as a tool to find out the thief

D. so as to play a game together

43. According to the judge, the next day the thief’s stick would be one inch longer than the others’ because _______.

A. the thief’s stick would grow one inch longer 

B. the other’s sticks would become one inch shorter 

C. something wrong would happen to the thief’s stick 

D. the judge had given the longer stick to the thief

44. Since the thief cut the stick short, ________.

A. he was found out 

B. the judge couldn’t catch him 

C. his stick had an equal length with the others’ 

D. his stick wouldn’t be any longer

45. The wise way the judge found out the thief in the end was to make ______.

A. the thief to cut an inch off the stick 

B. the thief cut an inch off the stick 

C. the stick grow an inch longer 

D. the thief tell him what he had done

Part IV Cloze 

Directions: In this part, you are required to read the following passage carefully and then choose the best answer from the 4 choices marked A), B), C) and D) . Then mark the corresponding letter on the Answer Sheet.
   In the past 50 years there has been a great increase in the amount of research being done on the brain. Chemists and biologists have found that the way the brain works is _46_ more complicated than they had thought. In fact many people believe that we are only now really starting to learn the truth about _47_ the human brain works. The more scientists find out, the _48_ questions they are _49_ to answer. For instance, Chemists have found that _50_ 100,000 chemical reactions take place in the brain every second. Mathematicians who have tried to use computers to _51_ the way the brain works have found that even using the _52_ electronic equipment they would have to build a computer which weighed over 10,000 kilos, some recent research also suggests that we _53_ everything _54_ happens to us. We may not be able to _55_ this information, but it is all stored in our brains.

46. A. far



B. further


C. many



D. very much

47. A. what



B. that



C. how



D. why

48. A. much



B. many



C. most



D. more 

49. A. enable


B. unable


C. can



D. possible

50. A. more



B. over



C. there have been
D. there are

51. A. study



B. learn



C. copy



D. examine

52. A. latest



B. new



C. recent


D. late

53. A. have remembered
B. remembered

C. are remembering
D. remember

54. A. which



B. that



C. what



D. /

55. A. use



B. recall



C. forget


D. recite
西南交大网络教育入学考试模拟题
大学英语（二）

Part I Sound Recognition 
Directions: There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three, then mark the corresponding letter on the Answer Sheet with a single line through the center.
1. A) noise


B) horse



C) nose



D) close
2. A) spend


B) blank



C) bang



D) angry

3. A) evening

B) except


C) eleven


D) excuse 

4. A) sport


B) worse


C) report


D) forty

5. A) chalk


B) chicken


C) choose


D) sandwich
Part II Vocabulary and Structure 

Directions: There are 20 incomplete sentences in this part. For each of them there are 4 choices marked A), B), C) and D). Choose the one that best complete the sentence, then mark the corresponding letter on the Answer Sheet with a single line through the center.
6. The house is too large for a small family. I’d like to change it ____ a smaller one.

A) into



B) for



C) to



D) with
7. This suite doesn’t seem ____ you.


A) to fit on


B) to fit for


C) to be fit to

D) to fit

8. He has done some research ____ free markets in this city for some times.


A) on



B) of



C) in



D) with

9. In the strong wind, a big tree was ____, blocking the street.


A) cut off


B) cleared away

C) blown down

D) cut through
10. Though he understood it, he could not speak out his idea ____ words.


A) in



B) with 


C) by means of

D) for

11. He passed the exam, ____ we didn’t expect.


A) as



B) which


C) that



D) so

12. He failed the exam again. I regret not ____ him before.


A) to have help

B) have helped

C) having helped

D) to help

13. Is this book ____ you borrowed from the library?


A) which


B) that



C) the one


D) what

14. The scientist didn’t mind ____ and stuck to his theory and research.


A) being laughed at





B) to be laughed at


C) laughing at






D) to laugh at

15. -- ____ is the population of that country?.


-- It ____ a population of 0.26 billion.

A) How many / has
B) What / is


C) How many / is
D) What / has

16. ____ tomorrow’s lessons, I have no time to go out with you.


A) Not prepared






B) Not having prepared



C) Not prepare






D) Not being prepared

17. The doctor did ____ they could ____ the wounded man.


A) that / save


B) what / save

C) and / save

   D) what / to save
18. I don’t doubt ____ he’ll pass the driving test.


A) that



B) whether


C) if



D) about
19. Nothing is more uncomfortable than traveling in a crowded bus on ____ day.


A) such hot a


B) so hot


C) such a hot

D) so a hot

20. This lamp was successfully produced after ____ studies and experiments.


A) being repeated

B) repeated


C) repeatedly

D) repeating

21. He found his color TV ____.


A) have been stolen
B) to be stolen

C) stealing


D) stolen
22. No matter ____ the population is, China produces little waste.


A) what



B) how large


C) how much

D) how many

23. Rise up ____ you have fallen.


A) from the place of
B) where
 

C) in which


D) from where

24. ____ more attention, the trees could have grown better.


A) Given


B) To give



C) Having given

D) Giving
25. They lost their way in the forest, and ____ made matters worse was that night began to fall.


A) that 



B) it



C) what



D) which
Part III Reading comprehension

Directions: There are some passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are 4 choices marked A), B), C) and D). Choose the one that best complete the sentence, then mark the corresponding letter on the Answer Sheet with a single line through the center.

Passage One
Some people argue that the pressure on international sportsmen and sportswomen kills the essence (真谛) of sport —the pursuit of personal excellence. Children kick a football around for fun. When they get older and play for local school teams, they become competitive but they still enjoy playing. The individual representing his country cannot afford to think about enjoying himself, he has to think only about winning. He is responsible for entire nation’s hopes, dreams and reputation.

A good example is the football Word Cup. Football is the world’s most important sport. Winning the World Cup is perhaps the summit of international sporting success. Mention Argentina (阿根廷) to someone and the chances are that he’ll think of football. In a sense, winning the World Cup put Argentina on the map. 

Sports fans and supporters get quite unreasonable about the World Cup. People in England felt that their country was somehow important after they won in 1966. Last year thousands of Scots sold their cars, and even their houses, and spent all their money traveling to Argentina, where the finals were played. 

So, am I arguing that international competition kills the idea of sport? Certainly not! Do the Argentinians really believe that because eleven of their men proved the most skillful at football, their nation is in every way better than all others? Not really, But it’s nice to know that you won and that in one way at least your country is the best. 

26. What is the author’s main purpose in the passage? 

A. To explain the role of sport. 

B. To compare Scotland with Argentina.

C. To show that Argentina is better than all others. 

D. To prove that football is the world’s most important sport. 

27. In the second paragraph, the word “summit” means “______”. 

A. award







B. summary 

C. highest point 






D. mountain top 

28. According to the passage, Argentina is world-famous because of its ______. 

A. obvious position on the map 

B. successes in the football World Cup 

C. excellence at most important sports 

D. large number of sports fans and supporters 

29. According to the passage, if a sportsman only thinks about winning, he will ____. 

A. fail to succeed 





B. lose enjoyment 

C. be successful 






D. be unreasonable 

30. What is the author’s attitude towards international games? 

A. Nations that meet on a football field are unlikely to meet on a battlefield 

B. Nations that win the football World Cup are regarded as best in all aspects.

C. Nations that win in international games prove the best on the sports field at least. 

D. Nations that give much attention to international competitions are world-famous in many ways.
Passage Two 

The people of Saskatoon wanted the 1971 Canada Winter Games to be held in their city. But they had a problem. Saskatoon has never been considered a good place to ski. For skiing, you need slopes. And Saskatoon sits in the middle of a prairie, a wide area of level land.

How do you think the people solved their problem? They built a mountain from the ground up! When finished, it stood 300 feet high. A T-bar was set up to take skiers to the top. From there they could ski down the quarter-mile main run or the 50-meter ski jump.

And so athletes from all over Canada went to Saskatoon to take part in the games. They swam. They played badminton and other indoor games. They boxed and wrestled. And they skied!
31. Saskatoon is a Canadian ______.

A. province


B. city



C. town



D. county

32. Saskatoon wasn’t a good place to go skiing because the countryside was too ______.

A. flat



B. rocky



C. dry



D. cold

33. The people built a mountain mainly because they ______.

A. thought it would make the area more beautiful

B. wanted to go mountain-climbing

C. hoped to teach their children to ski

D. needed slopes for the Winter Games

34. The height of the finished mountain was ______.

A. 50 metres







B. a quarter of a mile

C. 300 feet                          D. 30 rods

35. Besides skiing, sports events at the Winter Games included ______.

A. boxing and wrestling




B. swimming and polo

C. boating and fishing




D. baseball and soccer
Passage Three 

For 30 years, Randy J. Murphy drove without being stopped by the police and without a driver’s license.

The 46-year-old man’s luck came to an end last May. On his way home from his job as a dishwasher, he turned up the radio in the car.

“I just turned round the corner, and there was Mark,” Murphy said of the police officer who has since made such a difference in his life.

Officer Mark Taylor had stopped the car as he heard the blaring music. When he asked for a driver’s license, Murphy said that he didn’t have one.

Murphy told Taylor he couldn’t read well enough to take the written part of the licensing test. “He said people just don’t help any more. I told him if he was willing, I’d help him,” said Taylor. He gave Murphy his phone number. That afternoon Murphy called the officer.

For the next three months, the men met several times a week to review the questions which might appear in the test. When Murphy took the test, Taylor went with him. Murphy passed on his sixth attempt. He then sailed through the road test. On September 5, he got his license.

Taylor’s act of kindness won him the Officer of the Month award from the Knoxville police Department. “People should help each other if they can,” Taylor said. “Randy did all the work. I just guided him along.”
Although Murphy has overcome the difficulty that kept him from getting a driver’s license, he hasn’t stopped there. “We still meet once a week to read,” Taylor said. “We’ve also become friends.”
“I’m glad he pulled me over now,” said Murphy.

36. Murphy was stopped by Taylor because ______.

A. the music in his car was too loud

B. he drove without a drivers license

C. he made a wrong turn at a corner

D. he listened to the radio while driving

37. After learning Murphy’s situation, Taylor decided ______.

A. to put an end to his luck

B. to help him learn how to read

C. to take away his drivers license

D. to stop him from doing silly things

38. In the sentence “He then sailed through the road test”, “sailed through” is close in meaning to ______.

A. tried his best in





B. nearly failed in

C. suffered a lot in





D. easily succeeded in

39. According to Taylor, he helped Murphy pass the licensing test because ______.

A. he felt sorry for the bad situation of the poor

B. he wanted to win the Officer of the Month award

C. he hated to see people in need of help were not helped

D. he thought it was a policeman’s duty to help people read

40. How many written tests had Murphy taken before getting his license?

A. One.


B. Two.




C. Five.



D. Six.
Passage Four 

In our daily life, few people notice the fact that warm water freezes more quickly than cold. Sir Francis Bacon said that almost four hundred years ago. But few people believed him till 1970. In that year Canadian Scientist George Kell proved the English scholar was right. Dr. Kell filled an open bucket with cold water. He filled another with warm water. He exposed both to the same low temperature. The warm water froze first.

The lack of covers on the buckets was the secret. Some of the warm water changed to vapor. It evaporated（蒸发）into the air. This meant that less of the warm water was left to freeze. And so the warm water froze faster than the cold water even though it had a greater temperature drop to make.

41. Sir Francis Bacon was ______.

A. an American experimenter



B. a Canadian scientist

C. an English scholar





D. an Australian writer

42. Dr. Kell’s buckets were both ______.

A. filled with water





B. left uncovered

C. exposed to the same temperature

D. All of the above

43. The second paragraph tells why ______.

A. Dr. Kell was studying water

B. the warm water froze first

C. Dr. Kell used buckets in his work

D. water freezes in underground pipes

44. No water vapor would have escaped into the air if the bucket had been ______.

A. warmed


B. covered


C. shaken


D. filled

45. The cold water froze more slowly because ______.

A. salt was added to it




B. its bucket was smaller

C. there was more of it left



D. the air near it was moving
Part IV Cloze 

Directions: In this part, you are required to read the following passage carefully and then choose the best answer from the 4 choices marked A), B), C) and D) . Then mark the corresponding letter on the Answer Sheet.
It was a holiday weekend. The police officers were seated in a hot room receiving _46_ from their captain. One of these officers was Ed. Williams. He and the other officers were on special duty because they knew that over the weekend two weeks _47_ over 400 people had died from accidents caused by _48_ drivers. Over 4,000 people had got serious injuries, all caused by such drivers. The officers would try their best to _49_ such accidents before they happened.
   Joe Forest was enjoying himself at a family party. It was getting late and Joe told his sister that he was _50_. Joe' s sister asked him to stay and wait a few hours _51_     he drove, "Don' t worry. I' m going to be fine. I'm going to drive _52_. I only had a few drinks," Joe said.
   Officer Williams was at his post watching the passing cars. A green car was coming, _53_ from left to right. Officer Williams stopped the car and told Joe to get out. He asked Joe to run along the white line. Joe couldn't do it. Joe also _54_ the breath test. Officer Williams told Joe that he must appear in court the next week and he _55_ drive his car home. Joe called his sister. His sister came and drove him home.

  That was Joe' s first offence (违章). He appeared in court and received a $ 400 fine. He was not allowed to drive for sixty days. Other drivers were lucky for Joe didn't kill them. But what about the future, was Joe going to stop drinking and driving?

46.
A) instructions

B) advice


C) suggestions

D) test

47.
A) later



B) earlier


C) after



D) ahead

48.
A) careless


B) drunk


C) inexperienced

D) sleepy

49.
A) persuade


B) miss



C) forbid


D) prevent

50.
A) worried


B) anxious


C) coming


D) leaving

51.
A) if



B) when



C) before


D) while

52.
A) fast



B) hurriedly


C) slowly


D) smoothly

53.
A) turning


B) moving


C) heading


D) rolling

54.
A) passed


B) had



C) failed


D) enjoyed

55.
A) mustn't


B) couldn't


C) needn't


D) shouldn't

西南交大网络教育入学考试模拟题
大学英语（三）

Part I Sound Recognition 
Directions: There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three, then mark the corresponding letter on the Answer Sheet with a single line through the center.
1. A. nurse


B. thirsty


C. universe


D. surprise

2. A. belief


B. niece



C. field



D. variety

3. A. surprised

B. pleased


C. refused


D. increased
4. A. temperature

B. change


C. average


D. surface

5. A. construction
    B. coral



C. cross



D. model
Part II Vocabulary and Structure 

Directions: There are 20 incomplete sentences in this part. For each of them there are 4 choices marked A), B), C) and D). Choose the one that best complete the sentence, then mark the corresponding letter on the Answer Sheet with a single line through the center.
6. Last Sunday _____ had a picnic in Beihai Park. 

A. John, Mary and me 




B. John, I and Mary 

C. John, Mary and I 




D. I, John and Mary
7. I know nothing about him _____ he is a teacher. 

A. besides 

B. in addition 

C. except for 

D. except that 

8. You never told us why you were late for the party, _____? 

A. weren’t you 
B. didn’t you 

C. had you 


D. did you 

9. He’s _____ to know the answer. 

A. likely 


B. probable 


C. maybe 


D. probably 

10. _____ I knew him better, I discovered that my impression had been right. 

A. Which 

B. As 



C. Until 


D. Unless
11. It isn’t quite _____ that he will he present at the meeting. 

A. certain 

B. sure 



C. right 


D. exact 

12. He told her nothing, _____ upset her. 

A. that 


B. for which 

C. about which 

D. which 

13. It’s too expensive for me. I can’t _____ it. 

A. spend 

B. cost 



C. pay 



D. afford 

14. Would you like me _____ the radio a bit? 

A. turning down 
B. to turn down 

C. turn down 

D. turned down 

15. “I saw Mary in the library yesterday?” 

“You _____ her, she is still in hospital.” 

A. mustn’t have seen 




B. could not see 

C. can’t have seen 




D. must not see 

16. ____ the south of Scotland is England, with London as its capital.


A) On



B) To



C) In



D) Of

17. The first textbook ____ for teaching English as a foreign language came out in the 16th century.


A) have written

B) to be written

C) being written

D) written

18. So many papers to ____, so much money to pay back.


A) collect


B) prove


C) sign



D) write

19. In some parts of the world, tea ____ with milk and sugar.


A) is serving


B) is served


C) serves


D) served

20. Here is my card. Let’s keep in ____.


A) relation


B) friendship

C) connection

D) touch 

21. With all work ____, I don’t know if I’ll have time to go out.


A) to be done

B) done



C) to do



D) doing

22. You will find this map of great ____ in helping you to get round London.


A) price



B) cost



C) value


D) usefulness

23. These wild flowers are so special that I would do ____ I can to save them.


A) that



B) which


C) whatever


D) whichever

24. She spoke in such a low voice that she could not make herself ____. 


A) hear



B) heard



C) to hear


D) hearing

25. I ____ English for five years now.


A) was studying






B) am studying


C) studied







D) have been studying

Part III Reading comprehension

Directions: There are some passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are 4 choices marked A), B), C) and D). Choose the one that best complete the sentence, then mark the corresponding letter on the Answer Sheet with a single line through the center.

Passage One
 Most dogs’ owners feel that their dogs are their best friends. Almost everyone likes dogs because they try hard to please their owners. One of my favorite stories is about a dog who wanted his owners to please him.

One of my friends has a large German shepherd named Jack. Every Sunday afternoon, my friend takes Jack for a long walk in the park. Jack likes these long walks very much.

One Sunday afternoon, a young man came to visit my friend. He stayed a long time and he talked and talked. Soon it was time for my friend to take Jack for his walk, but the visitor didn’t leave. Jack became very worried about his walk in the park. He walked around the room several times and then sat down directly in front of the visitor and looked at him, but the visitor paid no attention. He continued talking. Finally Jack couldn't stand it any longer. He went out of the room and came back a few minutes later. He sat down again in front of the visitor, but this time he held the man’s hat in his mouth.


36. The dogs in general _____.

A) tried hard to please his owner like other dogs

B) tried hard to like his owner

C) tried hard to make his owner happy

D) tried hard to make his owner please him

37. Jack was the name of _____.

A) one of my friends                B) a dog

C) a German sheep                 D) a German

38. The dog sat down directly in front of the visitor _____.

A) to look at him clearly             B) to frighten him

C) to listen to his talking             D) because he wanted the man to leave
39. What does the word “it” in the sentence “Jack couldn’t stand it any longer” refer to?
A) His walking around the room several times.

B) His sitting in front of the visitor.
C) His owner's visitor's staying and talking.

D) His walking in the park.

40. Why did the dog hold the visitor’s hat in his mouth this time?

A) Because he wanted to play with the hat.

B) Because he wanted to remind the visitor that he should leave.

C) Because he was a friendly dog.

D) Because he was angry with his owner.
Passage Two 
A man stayed in his house as a flood engulfed his town. Two men in a rowboat came to his house and offered to take him to safety. “No, thank you,” said the man, “God will help me.”
As the waters rose, the man retreated to the second storey of his house. Now, two men in a motorboat came by and offered to rescue him. Again, the man declined, saying, “No, thank you. God will help me.”
As the waters rose still higher, the man retreated again to the rooftop of his house. A helicopter came by, and someone inside it threw down a rope, urging the man to grab it and he pulled up into the helicopter. Once more, the man declined and said, “No, thank you. God will help me.” Just then a mighty voice called out to the man, “You idiot! I sent you a rowboat, a motorboat and now a helicopter. What more do you want me to do?”
26. Which of the following do you think is the best title for this passage?

A) A Man in Floods



B) God Will Help Me

C) A Town in Floods           
D) Different Ways to Help People out of Water

27. Why didn’t the man enter the rowboat at first?

A) Because he didn’t know the men in the boat.

B) Because he thought he could retreat to a higher place.

C) Because he was sure God would help him.

D) Because he was sure he could take himself to safety.

28. The underlined word “mighty” means _____.

A) loud







B) powerful

C) soft







D) angry

29. At the end of the passage, who called out to the man?

A) The men in the rowboat.

B) The men in the motorboat.

C) Someone in the helicopter.

D) God himself.

30. What do you think of this man? He was _____.

A) very faithful





B) very stupid

C) helpless






D) useless
Passage Three
When the TV viewer turns on his set, what sort of programs does he have to choose from? You might think there would be more programs devoted to entertainment than to anything else, but that’s not the case. In most countries, fewer than 20% of broadcasting hours are devoted to entertainment. U.S. figures are high—34.8%，and the fun loving Canadians are even higher with 44%. Except Canada and Italy, all countries give more broadcasting time to education than to either information (news, documentaries and so on) or entertainment programs. Of course, few educational broadcasts take place during peak viewing times. In Japan though, more than 60% of broadcasting time is taken up with education of one kind of another—just another example of the businesslike Japanese philosophy. In the U.K., the figure is 56.4%. The Italians have fewer educational programs than anyone else. They don’t go in for entertainment either. Only about ten percent of viewing time is devoted to dramas and serials, quiz shows, music, sports, etc. You will find more news information programs on Italian TV than anything else. That’s understandable in a country experiencing social and political changes. Italians rely on TV to tell them what’s going on—and events are happening almost too fast to follow. The percentage of time the U.S. devoted to news and documentary programs is much smaller. After education, most TV time is given to entertainment. Many of these programs are shown around the world. 

41. Based on this passage, the percentage of TV broadcasting hours devoted to education is greatest in _______. 

A. Japan


B. Italy


C. Canada


D. the United States 

42. More news information programs are broadcast on Italian TV than anywhere else because the Italians _______.

A. are interested in what is happening in the world 

B. like to undergo social and political changes 

C. prefer to learn news information on TV rather than in newspapers 

D. expect TV to tell them the latest news about what is going on in their country 

43. So far as the broadcasting hours devoted to entertainment are concerned, _______. 

A. the Japanese figure is the highest in the world 

B. the U. S. figure is smaller than the U.K. figure 

C. the U.K. figure is second to the Japanese figure 

D. the Canadian figure is higher than that of any other country 

44. From this passage, we learn that most TV stations in the world devoted more broadcasting hours to _______. 

A. educational programs 

B. entertainment programs 

C. news information programs 

D. dramas, serials, music, sports and so on 

45. In the United States, _______. 

A. TV programs are shown for world audience to watch 

B. most of TV broadcasting hours are given to entertainment 

C. educational programs are shown during peak viewing times 

D. TV broadcasting hours devoted to education are more than those devoted to entertainment
Passage Four 

Copernicus was born in Torun, Poland, on February 19, 1473. Little is known about his early life except that his father died when he was 10. An uncle adopted him, his two sisters, and his brother. The uncle saw to it that the two boys received a good education. Copernicus went to the University of Cracow. There he studied such subjects as Latin, mathematics, and astronomy. It was probably at that time that he changed his Polish name, Niklas Koppernigk, to the Latin form of Nicolaus Copernicus. In 1496 Copernicus went to Italy, where he spent the next 10 years studying at various universities.

In Copernicus time people still believed that all things—the sun, the stars, and the planets—moved around the earth. It was an old belief that few men had ever questioned. Aristotle had based his theory of astronomy on this belief. Because the Church had long been the center of learning, the theory was also linked to religious beliefs.

In 1506 Copernicus returned to his homeland. A few years later he began to work for the Church. All those years Copernicus carried on his work in astronomy. He had just the most basic equipment and, like other scientists of his day, made observations with only his eyes. Still, using mathematics and logic, Copernicus worked out a different theory, which held that the planets went around the sun.

Copernicus did not announce his ideas. He did not want to make trouble. But he could not hide the scientific truth. So he talked about his theory with his friends, who strongly advised him to have his work published. His great book, On the Revolutions of the Heavenly Bodies, appeared at the very end of his life. Copernicus saw the first copy on the day he died, May 24, 1543.

31. Which of the following is TRUE about Copernicus？

A. He had two brothers and a sister.

B. He used to be called Niklas Koppernigk.

C. He lost his father soon after he was born. 

D. He spent 10 years at the University of Cracow.

32. From the passage we can see that Astronomy is ______.

A. the life experience of great men

B. the movement of the stars and the planets

C. the scientific study of natural objects in space

D. the theories developed by scientists of old times

33. Copernicus developed his theory ______.

A. using various telescopes

B. based on Aristotle’s beliefs

C. through observations and reasoning

D. under the encouragement of his friends

34. The writer of the passage wants us to know that ______.

A. Copernicus did not tell about his discovery until the day of his death

B. for many years Copernicus dared to do nothing openly against the Church

C. pushed by his friends Copernicus decided to write a book in May 1543

D. shortly before he got back to Poland Copernicus started to work for the Church

35. Copernicus had his great book published because ______.

A. he didn’t agree with Aristotle

B. he could not hide the scientific truth

C. he worked for the church

D. his friends advised him to do so
Part IV Cloze 

Directions: In this part, you are required to read the following passage carefully and then choose the best answer from the 4 choices marked A), B), C) and D) . Then mark the corresponding letter on the Answer Sheet.
Young people and older people do not always _46_. They always have different ideas about living, working, and playing. But in one special program in New York State, adults and teenagers live together in _47_.

Each summer 200 teenagers and 50 adults live together for eight weeks _48_ members of a special group. Everyone works several hours each day. The aim is not just to keep busy. It is to find meaning and enjoyment in work. Some teenagers work in the woods or on farms near the village. Some learn to make furniture and to build houses. The _49_ teach them these skills.

There are several _50_ hours each day. Weekends are free too. During the hours some of the teenagers learn photography or painting. Others sit around and talk or sing. Each teenager chooses his own way to _51_ his free time.

   When people live together, rules are always _52_. In this program the teenagers and the adults make the rules together. If someone _53_ a rule, the problem goes before the whole group in order to be solved. They asked, “Why did it happen? _54_ should we do about it?”
One of the teenagers has this to say about the experience: “You stop thinking only about yourself. You learn how to think about the _55_.”
46. A) scold



B) fight



C) quarrel


D) agree
47. A) quarrel 


B) struggle


C) argument


D) peace
48. A) like



B) as



C) with



D) for

49. A) farmers


B) workers


C) teenagers


D) adults
50. A) free



B) busy



C) working


D) studying

51. A) take



B) waste


C) kill



D) spend

52. A) unimportant

B) important


C) necessary


D) useless

53. A) makes


B) follows


C) breaks


D) keeps

54. A) When



B) What



C) How



D) Where

55. A) teenagers


B) adults


C) yourself


D) group
西南交大网络教育入学考试模拟题
大学英语（四）

Part I Sound Recognition 
Directions: There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three, then mark the corresponding letter on the Answer Sheet with a single line through the center.
1. 
A) asleep
  

B) awake
  

C) hasten 


D) Christmas 

2.
A) shout  


B) touch 


C) announce 

D) about 

3.
A) exercise 


B) excuse 


C) explain 


D) extremely
4.
A) watch  


B) write 


C) wrap 


D) answer
 

5.
A) deal

  

B) deaf

  

C) weak 


D) beat

Part II Vocabulary and Structure 

Directions: There are 20 incomplete sentences in this part. For each of them there are 4 choices marked A), B), C) and D). Choose the one that best complete the sentence, then mark the corresponding letter on the Answer Sheet with a single line through the center.
6. Last Sunday _____ had a picnic in Beihai Park. 

A. John, Mary and me 




B. John, I and Mary 

C. John, Mary and I 




D. I, John and Mary
7. I know nothing about him _____ he is a teacher. 

A. besides 

B. in addition 

C. except for 

D. except that 

8. You never told us why you were late for the party, _____? 

A. weren’t you 
B. didn’t you 

C. had you 


D. did you 

9. He’s _____ to know the answer. 

A. likely 


B. probable 


C. maybe 


D. probably 

10. _____ I knew him better, I discovered that my impression had been right. 

A. Which 

B. As 



C. Until 


D. Unless
11. It isn’t quite _____ that he will he present at the meeting. 

A. certain 

B. sure 



C. right 


D. exact 

12. He told her nothing, _____ upset her. 

A. that 


B. for which 

C. about which 

D. which 

13. It’s too expensive for me. I can’t _____ it. 

A. spend 

B. cost 



C. pay 



D. afford 

14. Would you like me _____ the radio a bit? 

A. turning down 
B. to turn down 

C. turn down 

D. turned down 

15. “I saw Mary in the library yesterday?” 

“You _____ her, she is still in hospital.” 

A. mustn’t have seen 




B. could not see 

C. can’t have seen 




D. must not see 

16. ____ the south of Scotland is England, with London as its capital.


A) On



B) To



C) In



D) Of

17. The first textbook ____ for teaching English as a foreign language came out in the 16th century.


A) have written

B) to be written

C) being written

D) written

18. So many papers to ____, so much money to pay back.


A) collect


B) prove


C) sign



D) write

19. In some parts of the world, tea ____ with milk and sugar.


A) is serving


B) is served


C) serves


D) served

20. Here is my card. Let’s keep in ____.


A) relation


B) friendship

C) connection

D) touch 

21. With all work ____, I don’t know if I’ll have time to go out.


A) to be done

B) done



C) to do



D) doing

22. You will find this map of great ____ in helping you to get round London.


A) price



B) cost



C) value


D) usefulness

23. These wild flowers are so special that I would do ____ I can to save them.


A) that



B) which


C) whatever


D) whichever

24. She spoke in such a low voice that she could not make herself ____. 


A) hear



B) heard



C) to hear


D) hearing

25. I ____ English for five years now.


A) was studying






B) am studying


C) studied







D) have been studying

Part III Reading comprehension

Directions: There are some passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are 4 choices marked A), B), C) and D). Choose the one that best complete the sentence, then mark the corresponding letter on the Answer Sheet with a single line through the center.

Passage One
 For some employers, the policy of lifelong employment is particularly important because it means that they can put money and effort into their staff training and make them loyal to the company. What they do is to select young people who have potential and who can be trained. They then give the young people the kinds of skills that will make them suitable employees for the company. In other words, they adjust their training to their particular needs.

One recently employed graduate says that she is receiving a great deal of valuable training from the company. “This means that I will be a loyal employee,” she says. “And it also means that the company will want to keep me. I am an important investment for them. So the policy is a good one because it benefits both the employer and the employee.”

Recently, however, attitudes towards lifelong employment are beginning to change. Employees are slowly beginning to accept the idea that lifelong employment is not always in their best interest and that changing firms can have career advantages.

26.
The purpose of lifelong employment is to ________.

A) adjust the needs of the company to its employees

B) make employees loyal to their company

C) select the best skilled young employees

D) keep the skilled staff satisfied

27.
By training its employees, a company can make them ________.

A) do their work more easily

B) more interested in their work

C) willing to invest money into the company

D) possess the necessary qualities for the job

28.
Talking about the training she has received, a recently employed graduate has the view that ________.

A) it is still well-received by all the staff members today

B) it is valuable to the employer and the employee

C) it is helpful for attracting young employees

D) it is both useful and interesting

29.
Attitudes towards lifelong employment are changing because ________.

A) job changes have career advantages

B) it’s boring to work in only one company

C) only the employer benefits from such employment

D) stable employment seldom offers better opportunities

30.
The passage is mainly about ________.

A) attitudes towards lifelong employment

B) policies of lifelong employment

C) lifelong training of employees 

D) employers’ interest in lifelong employment.
Passage Two 
In Britain there is a National Health Service (NHS) which is paid for by taxes and National Insurance, and in general people do not have to pay for medical treatment. Every person is registered with a doctor in his or her local area, known as a general practitioner (全科医生) or GP. This means that their names are on the GP’s list, and they may make an appointment to see the doctor or may call the doctor out to visit them if they are ill. People sometimes do have to pay part of the cost of drugs that the doctor prescribes. GPs are trained in general medicine but are not specialists in any particular subject. If a patient needs to see a specialist doctor, they must first go to their GP and then the GP will make an appointment for the patient to see a specialist at a hospital or clinic.

Although everyone in Britain can have free treatment under the NHS, it is also possible for him to have treatment done privately, for which he has to pay. Some people have private health insurance to help them pay for private treatment. Under the NHS, people who need to go to hospital may have to wait for a long time on a waiting list for their treatment. Anyone who is very ill can call an ambulance and get taken to hospital for free urgent medical treatment. Ambulances are a free service in Britain.

31.
In Britain, the National Health Service refers to ________.
A) a local hospital    

B) a medicine supplier

C) a medical care system 

D) an insurance company

32.
Under the National Health Service, British citizens ________.
A) are all registered with a general practitioner

B) do not need to buy private health insurance

C) can only go to see a general practitioner

D) cannot call in a general practitioner

33.
People buy private health insurance in order to ________.
A) pay for the ambulance service    

B) receive free urgent treatment

C) see a general practitioner 

D) have private treatment

34.
Which of the following is TRUE according to the passage?

A) People in Britain do not have to pay for any kind of medical care.

B) People in Britain may wait long for their free medical treatment.

C) In Britain you have to pay for ambulance service.

D) British private medical insurance is free.

35.
What is this passage mainly about?

A) Private medical care in Britain.    

B) Helps of general practitioners.

C) Taxes and free medical care.

D) Health services in Britain.

Passage Three
The brand name puts a face on every company. Name like McDonald’s, GM, Apple, Intel, and a large number of others have long become very popular. They’ve also given customers a point of reference when thinking about a company. Good brand names might help companies avoid heavy costs and bring them greater profits.

Usually companies create names that are easy to learn and remember. Firstly, the name should create interest. Rhymes (押韵) and humor are some ways to gain interest, but there are others as well. Think about your customers and what would interest them. Secondly, the name should present a picture or image. People remember them most because the name is stored in pictures and words. Thirdly, the name should be meaningful. It can be done with lots of advertising, but names that are themselves more meaningful to customers are more easily stored in memory. More important, the name should have meaningful associations that show the benefits customers want. Then the name should have some emotion. Emotional associations are easier to learn and remember. The Love Boat, for instance, is very easy to remember. Finally, the name should be simple so that it is easier to learn and remember.

36.Why does the passage mention the brand names such as McDonald’s and GM in the first paragraph?

A) To show that a good brand name is significant for a company.

B) To tell readers that they are important and popular terms.

C) To introduce some well-known brand names to readers.

D) To explain why those companies are successful

37.According to the passage, a good brand name ________.

A) must be shown in pictures





B) must be advertised a lot 

C) is attractive to customers 





D) is always full of humor

38.Which of the following is most important in making a brand name popular?


A) Being easy to remember.







B) Having lots of advertisements.

C) Gaining support from associations


D) Showing the benefits customers can have.

39.
Which of the following statements is TRUE?


A) People prefer strange brand names to ordinary ones.


B) Customers are interested in emotional brand names.


C) Brand names advertised in pictures are easy to make.


D) A brand name has little to do with a company’s profits.

40.
What is the main purpose of this passage?


A) To tell how difficult it is to make a good brand name.


B) To compare different ways of choosing brand names.


C) To recommend some popular brand names.

D) To introduce what a good brand name is.
Passage Four 

Generations of Americans have been brought up to believe that a good breakfast is one of life’s essentials. Eating breakfasts at the start of the day, we have all been told, and told again, is as necessary as putting gasoline in the family car before starting a trip.

But for many people the thought of food first thing in the morning is by no means a pleasure. So despite all the efforts, they still take no breakfast. Between 1977 and 1983, the latest year for which figures are available, the number of people who didn’t have breakfast increased by 33 percent from 8.8 million to 11.7 million—according to the Chicago-based Market Research Corporation of America.

For those who feel pain of guilt about not eating breakfast, however, there is some good news. Several studies in the last few years indicate that, for adults especially, there may be nothing wrong with omitting breakfast. “Going without breakfast does not affect performance,” said Amold Bender, former professor of nutrition at Queen College in London, “nor does giving people breakfast improve performance.”

Scientific evidence linking breakfast to better health or better performance is surprisingly inadequate, and most of the recent work involves children, not adults. “The literature,” says one researcher, Dr. Emesto Polite at the University of Texas, “is poor.”

41.
The latest year for which figures could be obtained is ________.

  
A) the year the author wrote the article



B) 1977

  
C) any year between 1977 and 1983

D) 1983

42. For those who do not take breakfast, the good news is that ________. 

  
A) several studies have been done in the past few years

  
B) the omission of breakfast does no harm to one’s health

  
C) adults have especially made studies in this field

  
D) eating little in the morning is good for health

43. “…, nor does giving people breakfast improve performance” (in Para.3 ) means ________.

  
A) anyone without breakfast does improve his performance

  
B) not giving people breakfast improves performance

  
C) having breakfast does not improve performance, either

  
D) people having breakfast do improve their performances, too

44. The word “literature” in the last sentence refers to ________.

  
A) stories, poems, plays, etc.

B) written works on a particular subject

  
C) any printed material

D) the modern literature of America

45. What is implied but NOT stated by the author is that ________.

  
A) not eating breakfast might affect the health of children 

  
B) Dr. Polite is engaged in research work at an institution of higher learning

  
C) breakfast does not affect performance

D) Professor Bender once taught college courses in nutrition in London
Part IV Cloze 

Directions: In this part, you are required to read the following passage carefully and then choose the best answer from the 4 choices marked A), B), C) and D) . Then mark the corresponding letter on the Answer Sheet.
Shoppers who carefully plan their visit to the grocery store can save money on their grocery bills. Shopping when not hungry, sticking to their grocery list, and _46_ a few simple rules will cut down the grocery bill.


Shoppers should visit the grocery store on a full stomach by planning their trip _47_ after a large meal. If that’s not possible, they should find something healthy to eat on while preparing a grocery list. Most shoppers are less _48_ to buy extras when they are not troubled by hunger. 


Although having a list and _49_ to it is the most important factor in saving money, shoppers must prepare lists wisely in order to save. A carefully planned list should _50_ in season produce and any items on sale or discount through coupons. Many special buys are announced through the local newspapers, so buying the “grocery issue” is _51_ the money you spend. What’s more, it’s important to remember that many newer, more expensive products first offered through coupons may not _52_ enough savings for shoppers to give up products they usually buy.


Now that the shopper has _53_ the grocery list, it’s time to leave for the store. However, no preparations are complete without a pocket calculator or a piece of paper and a pencil to figure costs.


Once at the store, the shopper who wants to save money should follow a few more rules. The shoppers should not stay _54_ than necessary because bills go up each minute the shopper is in the store. So, _55_ a time limit and a cost limit can hold down the bill. 

46.
A) carrying
   

B) making
   

C) taking


D) following 

47.
A) recently   

B) regularly   

C) immediately

D) completely

48.
A) willingly   

B) likely   


C) reluctantly

D) happily

49.
A) sticking   

B) replying   

C) according


D) belonging 

50.
A) keep

   

B) make

   

C) increase


D) include

51.
A) worth   


B) suitable   

C) value



D) fit

52.
A) come from  

B) result in   

C) succeed in

D) depend on

53.
A) saw

   

B) taken

   

C) completed

D) read

54.
A) shorter   

B) faster   


C) longer


D) quicker

55.
A) setting   

B) putting   

C) making


D) taking
西南交大网络教育入学考试模拟题
大学英语答案

11—1：AACCD    DADCD    ADCCD    ACDBA    ABCDB

       AADDC    BACCD    BDDBB    BCCAB    ACDBB
    CADBB

11—2：BAABD    ADCCA    BCCAD    BDACB    DBBAC

       ACBBC    BADCA    ABDCD    CDBBC    ABBDD    
CCBCA

11—3：DDDBA    CDDAB    ADDBC    BDCBD    ACCBD

       CBDCB    BCBDB    ADDAD    BCCBD    DDBDA    
DCCBD
11—4：CBAAB    CDDAB    ADDBC    BDCBD    ACCBD

       BDBAC    CADBD    ACABD    DBCBA    DCBAD    
ABCCA
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